Heeswijk 1998 winnaar: Henk Habraken GP 048
Naam Car (Brt

Jaspers 50 | 21

vd Berg 17 | 21 |Jaspers 50 33

JP de Bruijn bye | nvt |de Bruijn 35 33

Pijl 0 | nvt Jaspers 50 | 36

de Vries 50 | 47 de Vries 33 | 36

v Daalen 45 | 47 |de Vries 50 43

Witveld 44 | 56 |de Kleine 47 43

A. de Kleine 50 | 56 oF Jaspers 50 | 30

J. de Wit 27 | 59 Breur 26 | 30
Berkelmans 50 | 59 |Berkelmans 45 45

Breur 50 | 52 |(Breur 50 45

Strijbosch 39 | 52 Breur 50 | 43

Demming bye | nvt Vredeveldt 47 | 43

Wittens 0 | nvt [Demming 40 57

Vredeveldt 50 | 47 [Vredeveldt 50 57

vd Looy 50 | 47 Jaspers 23 | 27
Havermans 50 | 20 Arnouts 50 | 27
R. Nicodem 17 | 20 |Havermans 47 42

Schumann 0 | nvy [Broeders 50 42

A. Broeders bye | nvt Broeders 50 | 42

v Leeuwen 50 | 55 v Leeuwen 49 | 42

Holtrop 47 | 55 |v Leeuwen 50 51

v Manen 50 | 43 [v Manen 38 51

P. Vet 41 | 43 oF Broeders 46 | 39
Uijtdewilligen 50 | 47 Arnouts 50 | 39
Henskens 25 | 47 [Uijtdewilligen 30 37

F. Broeders 35 | 40 [Hermse 50 37

Hermse 50 | 40 Hermse 39 | 31

Verkijk 46 | 61 Arnouts 50 | 31

H. de Kleine 50 | 61 [de Kleine 45 43

Kuyt 30 | 41 |Arnouts 50 43

Arnouts 50 | 41 Habraken 50 | 17
vd Smissen 50 | 32 Arnouts 17 | 17
Bult 21 | 32 [vd Smissen 50 34

Koorevaar 50 | 55 [Koorevaar 39 34

v Schaik 43 | 55 vd Smissen 28 | 39

Nieuwenburg bye | nvt Nieuwenburg | 50 | 39

Siemens 0 | nvt [Nieuwenburg 50 43

v Lieshout 32 | 36 [Overmars 34 43

Overmars 50 | 36 oF Nieuwenburg 35 | 39
Velthuis 50 | 42 Habraken 50 | 39
Wagenaar 33 | 42 (Velthuis 37 53

v Erp 50 | 39 |vErp 50 53

vd Ven 39 | 39 v Erp 28 | 36

Sternheim 50 | 57 Habraken 50 | 36

v Peer 48 | 57 [Sternheim 29 31

Paris 25 | 36 [Habraken 50 31

Habraken 50 | 36 Habraken 50 | 36
Weijenburg 50 | 23 Burgman 44 | 36
Posthumius 23 | 23 [Weijenburg 50 46

v Uum bye | nvt |v Uum 44 46

Peterson 0 | nvt Weijenburg 50 | 18

v Cromvoirt 32 | 40 Valentijn 17 | 18

Valentijn 50 | 40 [Valentijn 50 39

vd Stappen 37 | 43 [Martens 40 39

Martens 50 | 43 oF Weijenburg 39 | 38

de Wilde 50 [ 68 Burgman 50 | 38

de Ridder 46 | 68 [de Wilde 41 43

F. de Bruyn 0 | nvt |Vlaar 50 43

Vlaar bye | nvt Vlaar 33 | 37

M. Vet bye | nvt Burgman 50 | 37

Bongers 0 | nvt [Vet 38 39

Belderbos 45 | 37 [Burgman 50 39

Burgman 50 | 37




